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- Example 6
M | 1 2 4 iy | 3
Find the solution of X = Ta of the system 3 8 14 To = 13
- | 2 O 13 B 4

3. Do matrices always have an LU decomposition?

Mo. Sometimes it is impossible to write a matrix in the form “lower triangular” = "upper triangular” .

Why not?
An invertible matrix A has an LI decomposition provided that all its leading submatrices have

non-zero determinants. The k'™ leading submatrix of A is denoted A, and is the & = k& matrix found
by looking only at the top & rows and leftmost & columns. For example if
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L T 1 2 4 T 3
Find the solution of X = Ta of the system 3 85 14 To = 13 .
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b 1 2 4
Find the solution of X = Lo of the system 3 8 4
2 6 51
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